Rounding Codebreaker 2
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Round the numbers to what is tells you in brackets, link your answers to the table above to reveal why the bank robber was dressed as a frog:
	Round  [1dp]
	Round  [1dp]
	Round  [2dp]
	Round  [2dp]
	Round  [3dp]

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	Round  [1dp]
	Round  [2dp]
	Round  [1dp]
	Round  [1dp]
	Round  [2dp]

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	Round  [3dp]
	Round  [2dp]
	Round  [1dp]
	Round  [2dp]
	

	
	
	
	
	

	
	
	
	
	




Rounding Codebreaker 2 - Answers
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Round the numbers to what is tells you in brackets, link your answers to the table above to reveal why the bank robber was dressed as a frog:
	Round  [1dp]
	Round  [1dp]
	Round  [2dp]
	Round  [2dp]
	Round  [3dp]
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	Round  [1dp]
	Round  [2dp]
	Round  [1dp]
	Round  [1dp]
	Round  [2dp]
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	T
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	Round  [3dp]
	Round  [2dp]
	Round  [1dp]
	Round  [2dp]
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